



Republic of the Philippines
Department of Agriculture
BUREAU OF SOILS AND WATER MANAGEMENT
SRDC Building Elliptical Road corner Visayas Avenue,
Diliman, Quezon City 1101
customers.center@bswm.da.gov.ph
Tel. no. (632) 8273-2474 local 3202

BSWM- BIDS AND AWARDS COMMITTEE SUPPLEMENTAL BID BULLETIN NO. 1

CONTRACT: Supply and Delivery of various Agricultural Inputs, Supplies and Materials for FY 2025 (Batch 2) IB No. BSWM 2025-03-041

This Addendum is being issued in accordance with Section 22.5.2 of the IRR of RA 9184, to clarify and modify some provisions of the Bidding Document. THIS SHALL FORM AN INTEGRAL PART OF THE BID DOCUMENT. Likewise, the succeeding agreements and reminders were discussed during the Pre-Bid Conference held last April 8, 2025 at the BSWM Function Room and via Videoconferencing-Zoom.

AMENDMENTS OF THE BIDDING DOCUMENT:

ORIGINAL	AMENDED
Section II. Instruction to Bidders	Section II. Instruction to Bidders
19.4 The Project shall be awarded as follows:	19.4 The Project shall be awarded as follows:
One Project having several items, which	Lot 1: One Project having several items shall be awarded as one contract per lot.
shall be awarded as separate contract per Lot	Lot 2: One Project having several items shall be awarded as one contract per lot.
	Lot 3: One Project having several items per lot, that shall be awarded per line-item basis.
	Revised Section VII. Technical Specifications (See attached Annex A of this Bid Bulletin)

REMINDERS DURING THE PRE-BID CONFERENCE:

RA 9184 Section 30.1:

Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act".

"Any lacking document can cause the submitted bid be automatically rated failed."

GPPB Resolution No. 15-2021 dated October 14, 2021

For the purpose of updating the Certificate of Registration and Membership, all Class "A" eligibility documents mentioned in Section 8.5, supporting the veracity, authenticity and validity of the Certificate shall remain current and updated. The failure by the prospective bidder to update its Certificate with the current and updated Class "A" eligibility documents shall result in the automatic suspension of the validity of its Certificate until such time that all of the expired Class "A" eligibility documents has been updated.

Below are the acceptable forms of bid security that bidders may opt to use, which shall include
the Bid Securing Declaration. The amount of which shall not be less than the required
percentage of the ABC in accordance with the following schedule:

Form of Bid Security	Amount of Bid Security [Not less than the required Percentage of the ABC)
Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	Two percent (2%)
Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Two percent (2%)
Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Five percent (5%)
Bid Securing Declaration (Signed and Notarized)	

NOTE: Bidders SHALL use ATTACHED template of Bid Securing Declaration.

Other forms of Bid Securing Declaration will NOT BE ACCEPTED and SHALL BE RATED "FAILED".

Please note that your Bids and Bid Securities should be valid and firm for a period that shall not exceed one hundred twenty (120) calendar days after the date of the opening of bids.

• Net Financial Contracting Capacity (NFCC):

The computation of a prospective bidder's NFCC must be at least equal to the ABC to be bid or, for procurement by lot, at least equal to the sum of all the ABCs of lots to which it participated.

NFCC= Current assets minus current liabilities multiplied by 15 (constant factor) minus the value of all outstanding or uncompleted portions of on-going contracts, including awarded contract/s yet to be started, coinciding with the contract to be bid.

Important Reminders:

Supplier shall coordinate with the End-user and Property Management Unit for the final schedule of delivery.

To schedule the delivery, please click this link or scan the QR code:

https://sites.google.com/view/pmuscheduleofdelivery/home



Sealing and Marking of Bid:

The bidders shall submit:

- ✓ One (1) ORIGINAL COPY.
- ✓ One (1) DUPLICATE COPY.
- ✓ One (1) PDF COPY in a USB to be placed inside the Duplicate Copy of Technical Proposal and Duplicate Copy of Financial Proposal.

NOTE:

- All photocopied documents must be stamped and signed "Certified True Copy".
- And all pages/documents must be duly signed by the authorized representative (both original and duplicate copies).
- For easy reference, all bidders are requested to provide dog-ear codes/ tabs in the presentation of their documents.
- One (1) bid proposal for each lot participated in, if applicable

Reminders:

- Bidders responsibility to read, study, and review the Bidding Document and Bid Bulletin/s of the procurement project.
- Further clarification/s on the Bidding Document shall be in writing and must be submitted 10 days before the Opening of Bids.
- All bidders who wish to join the bidding shall download the attached document from PhilGEPS website to be included in the Document Request List (DRL).
- Bidders may download the updated Bidding Forms at GPPB Website (https://www.gppb.gov.ph/downloadables.php).
- In case of withdrawal of submitted bid, a letter stating their intention to withdraw from the project should be submitted by the bidder not later than the scheduled deadline of submission and opening of bids.
- Bidders declared to have the Lowest/ Single Calculated Bid will be subject for Post-qualification.
- Bidder shall submit the additional requirements listed on the NOTICE as LCB/ SCB within five (5) calendar days from receipt of Notice for Post qualification. Non-compliance can be grounds for post-disqualification.
- Winning Bidders declared to have the Lowest/Single Calculated and Responsive Bid shall submit its Performance Bond and Signed Contract Agreement within ten (10) calendar days from receipt of Notice of Award. Non-compliance can be grounds for forfeiture of award.
- Bidders shall comply **STRICTLY** with Section VI. Schedule of Requirement **Note:**

NO EXTENSION shall be accepted/ entertained except on meritorious grounds. Late delivery without approved extension request shall be liable for liquidation damages in accordance with Section 3.1 Annex D of RA 9184.

Letter of extension shall receive by the BAC Secretariat before the lapse of the original delivery requirement.

Clause 4. Section II. Instruction to Bidders: Corrupt, Fraudulent, Collusive, and Coercive Practices

The Procuring Entity, as well as the Bidders and Suppliers, shall observe the highest standard of ethics during the procurement and execution of the contract. They or through an agent shall not engage in corrupt, fraudulent, collusive, coercive, and obstructive practices defined under Annex "I" of the 2016 revised IRR of RA No. 9184 or other integrity violations in competing for the Project.

A complete set of Bidding Document may be acquired by interested Bidders until **April 22, 2025 3:00PM** from the address and website.

DEADLINE/SCHEDULE OF SUBMISSION AND OPENING OF BIDS:

The deadline of submission of bid proposals is on **April 22, 2025, 9:00AM.** Late submission shall not be accepted.

Opening of Bids is on April 22, 2025 9:30AM at BSWM Convention Hall and via videoconferencing

For guidance and information of all concerned.

Digitally signed by DEMISE A. SOLANO Denise BAC Chairpersonaraullo

Section VII. Technical Specifications

Notes for Preparing the Technical Specifications

A set of precise and clear specifications is a prerequisite for Bidders to respond realistically and competitively to the requirements of the Procuring Entity without qualifying their Bids. In the context of Competitive Bidding, specifications (e.g. production/delivery schedule, requirements, and after-sales service/parts, descriptions of the lots or items) must be prepared to permit the widest possible competition and, at the same time, present a clear statement of the required standards of workmanship, materials, and performance of the goods and services to be procured. Only if this is done will the objectives of transparency, equity, efficiency, fairness , and economy in procurement be realized, responsiveness of bids be ensured, and the subsequent task of bid evaluation and post-qualification facilitated. The specifications should require that all items, materials and accessories to be included or incorporated in the goods be new, unused, and of the most recent or current models, and that they include or incorporate all recent improvements in design and materials unless otherwise provided in the Contract.

Samples of specifications from previous similar procurements are useful in this respect. The use of metric units is encouraged. Depending on the complexity of the goods and the repetitiveness of the type of procurement, it may be advantageous to standardize the General Technical Specifications and incorporate them in a separate subsection. The General Technical Specifications should cover all classes of workmanship, materials, and equipment commonly involved in manufacturing similar goods. Deletions or addenda should then adapt the General Technical Specifications to the particular procurement.

Care must be taken in drafting specifications to ensure that they are not restrictive. In the specification of standards for equipment, materials, and workmanship, recognized Philippine and international standards should be used as much as possible. Where other particular standards are used, whether national standards or other standards, the specifications should state that equipment, materials, and workmanship that meet other authoritative standards, and which ensure at least a substantially equal quality than the standards mentioned, will also be acceptable. The following clause may be inserted in the Special Conditions of Contract or the Technical Specifications.

Sample Clause: Equivalency of Standards and Codes

Wherever reference is made in the Technical Specifications to specific standards and codes to be met by the goods and materials to be furnished or tested, the provisions of the latest edition or revision of the relevant standards and codes shall apply, unless otherwise expressly stated in the Contract. Where such standards and codes are national or relate to a particular country or region, other authoritative standards that ensure substantial equivalence to the standards and codes specified will be acceptable.

Reference to brand name and catalogue number should be avoided as far as possible; where unavoidable they should always be followed by the words "or at least equivalent." References to brand names cannot be used when the funding source is the GOP.

Technical Specifications

Item	Specification	Statement of Compliance

[Bidders must state here either "Comply" or "Not Comply" against each of the individual parameters of each Specification stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in a Bidders Bid and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature, unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data etc., as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidder's statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the applicable laws and issuances.]

Note: Brand and model offered shall be indicated on the technical proposal per line item

Lot 1: COMPOSTS, ORGANIC FERTILIZERS, PESTICIDES AND AMELIORANTS

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
1	COMPOSTS, OR	RGANIC F	ERTILIZERS	, PESTICIDES AND AMELIORANTS			
	2025-01-0202	SWRRD	ABFS-HVC	Vermicompost/Vermicast, 40kg/bag	75	bag	
				Organic pesticide, neem oil, FPA/BAFS registered 1L	60	bot	
				Carbonized rice hull, 15kg/bag	75	bag	
				Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon			
		SWRRD	NSHP-CONT	Zeolite 25 kg	1	bag	
				Place of Delivery: BSWM, Quezon City Delivery Date: June 2025			
		SWRRD	NSHP-CONT	Vermicompost/Vermicast, 40kg/bag	4	bag	
				Carbonized rice hull, 15kg/bag	4	bag	
				Place of Delivery: BSWM, Quezon City Delivery Date: June 2025			
	2025-01-0202	LUPEZ	NSHP	Certified Organic Fertilizer (COF); (40-50kg/bag)	30	bags	
				Compost Enhancer	10	packs	
				Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M			

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
	2025-03-0566	LSD	NSHP	CAR			
				CORN			
				Compost or Organic Fertilizer at least 40kgs/bag	100	bags	
				RICE			
				Compost or Organic Fertilizer at least 40kgs/bag	1000	bags	
				Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025			
				REGION I			
				CORN			
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
				Place of Delivery: Aringay, La Union Delivery Date: On or before November 28, 2025			
				REGION III			
				CORN			
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
				Place of Delivery: Mexico, Pampanga Delivery Date: On or before November 28, 2025			
				RICE			
				Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	
				Place of Delivery: Guimba, Nueva Ecija Delivery Date: On or before November 28, 2025			
				REGION IV-A			
				CORN			
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
				Place of Delivery: Tayabas, Quezon Delivery Date: On or before November 28, 2025			
				RICE			
				Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	
				Place of Delivery: Sta. Maria, Laguna Delivery Date: On or before November 28, 2025			

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
				REGION IV-B			
				CORN			
				Compost or Organic Fertilizer - at least 40kgs/bag			
				J , J	100	bags	
				Place of Delivery: Abra De Ilog, Occidental Mindoro Delivery Date: On or before November 28, 2025			
				REGION V			
				CORN			
				Compost or Organic Fertilizer - at least 40kgs/bag	480	bags	
				Place of Delivery: Cataingan, Masbate Delivery Date: On or before November 28, 2025			
				RICE			
				Compost or Organic Fertilizer - at least 40kgs/bag	1000	bags	
				Place of Delivery: Polangui, Albay Delivery Date: On or before November 28, 2025			
				REGION IX			
				CORN			
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
				Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025			
				REGION X (CORN)			
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
				Place of Delivery: Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025			
				REGION XI (RICE)			
				Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	
				Place of Delivery: Kapalong, Davao Del Norte (1000 bags), Sto. Tomas, Davao Del Norte (1,000 bags)			

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
				Delivery Date: On or before November 28, 2025			
				REGION XII (RICE)			
				Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	
				Place of Delivery: Lambayong, Sultan Kudarat Delivery Date: On or before November 28, 2025			
				REGION XIII (CORN)			
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
				Place of Delivery: Esperanza, Agusan Del Sur Delivery Date: On or before November 28, 2025			
				BARMM (CORN)			
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
				Place of Delivery: Datu Hoffer, Maguindanao del Sur Delivery Date: On or before November 28, 2025			

Lot 2: BIOFERTILIZERS AND INORGANIC FERTILIZERS

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
2	BIOFERTILIZE	RS AND	INORGANIC I	FERTILIZERS			
	2025-01-0202	SWRRD	ABFS-HVC	Muriate of Potash (0-0-60), 50kg/bag	120	bag	
				Ammonium sulfate (21-0-0), 50 kg/bag	90	bag	
				Agricultural grade salt fertilizer	45	bag	
				Ammonium phosphate (16-20-0), 50 kg/ bag	15	bag	
				Biofertilizer, mycorrhizal inoculant, Locally-produced, FPA/BAFS registered, 1kg/pack, Expiration date not earlier than January 2026	30	pack	
				Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon			
	2025-01-0202	LUPEZ	NSHP	Complete (14-14-14), 50kgs/bag	28	bags	
				Urea (46-0-0), 50kgs/bag, Granular	10	bags	
				Muriate of Potash (0-0-60), 50kg/bag	10	bags	

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
				Biofertilizer (Mychorriza Fungi)	50	packs	
				Biofertilizer (Nitrogen Fixing Bacteria)	20	packs	
				Calcium Nitrate Fertilizer	50	kg	
				Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M			
	2025-03-0566	LSD	NSHP CONT	BARMM (RICE)			
				Complete (14-14-14), 50kgs/bag	816	bags	
				Urea (46-0-0), 50kgs/bag, Granular	800	bags	
				Muriate of Potash (0-0-60), 50kg/bag	200	bags	
				Ammonium phosphate (16-20-0), 50 kg/ bag	900	bags	
				Urea (46-0-0), 50 kg/ bag	276	bags	
				Muriate of Potash (0-0-60), 50 kg/bag	300	bags	
				Place of Delivery: Shariff Saydona Mustapha, Maguindanao del Norte Delivery Date: On or before November 28, 2025			
				REGION II (CORN)			
				Ammonium phosphate (16-20-0), 50 kg/ bag	450	bags	
				Urea (46-0-0), 50 kg/ bag	138	bags	
				Muriate of Potash (0-0-60), 50 kg/bag	150	bags	
				Place of Delivery: Luna, Isabela Delivery Date: On or before November 28, 2025			

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
3	SEEDS, SEEDI	INGS A	ND OTHER	PLANTING MATERIALS			
	2025-01-0203	SWRRD	ABFS-HVC	Pole sitao seeds, Pantastiko variety, 1 kg/pack	2	pack	
				Squash seeds, Suprema variety, 50g/can	40	can	
				Okra seeds, Smooth Green variety, 100g/can	5	can	
				Chili pepper, Django variety, 25g/can	20	can	
				Eggplant seeds, Mucho variety, 50g/can	10	can	
				Ampalaya seeds, Mestisa variety, 50g/can	20	can	

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
				Banana seedlings, Cardaba	30	рс	
				Papaya seedlings, Red lady	60	рс	
				Cacao tree seedlings	60	рс	
				Citrus tree seedlings	360	рс	
				Grafted guyabano tree seedlings	30	рс	
				Lanzones tree seedlings	60	рс	
				Rambutan tree seedlings	30	рс	
				Calamansi tree seedlings	210	рс	
				Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon			
				Note: Fruit tree seedlings, in 9x13" seedling bag, 2-3 ft ht., stem diameter > 1cm			
		CMIDDD	NCHD CONT	Citropolla Planting Material	25	nc	
		SWKKD	NSHF-CONT	Citronella Planting Material		pc	
				Rinorea niccolifera planting material	10	рс	
				Place of Delivery: BSWM, Quezon City Delivery Date: June 2025			
	2025-02-0240	SWRRD	LFP-NSHP	Garlic cloves, No.1 -planting material -free from diseases and mechanical damage -fully developed & mature bubls	4720	kg	
				Delivery date: 2nd week of October, 2025. Delivery Place: MMSU Batac, Ilocos Norte (400kg); Brgy. Susugaen, Pasuquin, Ilocos Norte (The rest).			
	2025-01-0202	LUPEZ	NSHP	vegetable seedlings (hot pepper) 128 cells per tray,	80	trays	
				vegetable seedlings (eggplant) 128 cells per tray, seedlings 28- 30 day old	80	trays	
				Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M			
	2025-03-0566	LSD	NSHP CONT	BARMM			
				RICE			

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
				Hybrid Rice Seeds, 15 kgs/bag, high-yielding variety suitable for the region	200	bags	
				Place of Delivery: Shariff Saydona Mustapha, Maguindanao del Sur Delivery Date: On or before November 28, 2025			
				CORN			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	200	bags	
				Place of Delivery: Datu Hoffer, Maguindanao del Sur Delivery Date: On or before November 28, 2025			
				REGION II			
				CORN			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	300	bags	
				Place of Delivery: Luna, Isabela Delivery Date: On or before November 28, 2025			
				CAR			
				Seeds, corn, yellow, at least 9kgs/bag Variety: DK 8282s	180	bags	
				Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025			
		LSD	NSHP	CAR (CORN)			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 8282s	20	bags	
				Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025			
		1		REGION I			
				CORN			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 6919s	170	bags	
				Place of Delivery: Santa Cruz, Ilocos Sur (70 bags) Aringay, La Union (100 bags) Delivery Date: On or before November 28, 2025			

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 6919s	30	bags	
				Place of Delivery: Aringay, La Union Delivery Date: On or before November 28, 2025			
				REGION III (CORN)			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: NK6410 VIP	200	bags	
				Place of Delivery: Moncada, Tarlac (50 bags), Concepcion, Tarlac (50 bags), Mexico, Pampanga (100 bags) Delivery Date: On or before November 28, 2025			
				REGION IV-A (CORN)			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	200	bags	
				Place of Delivery: Tayabas, Quezon Delivery Date: On or before November 28, 2025			
				REGION IV-B (CORN)			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	200	bags	
				Place of Delivery: Abra De Ilog, Occidental Mindoro Delivery Date: On or before November 28, 2025			
				REGION VI (CORN)			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	180	bags	
				Place of Delivery: Tapaz, Capiz Delivery Date: On or before November 28, 2025			
				REGION IX (CORN)			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8131S	200	bags	
				Place of Delivery: Bayog, Zamboanga Del Sur			

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	Statement of Compliance
				Delivery Date: On or before November 28, 2025			
				REGION X (CORN)			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8131S	200	bags	
				Place of Delivery: Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025			
				DECION VI (CODN)			
				REGION XI (CORN)			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	180	bags	
				Place of Delivery: Kapalong, Davao Del Norte Delivery Date: On or before November 28, 2025			
				REGION XII (CORN)			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	180	bags	
				Place of Delivery: Bagumbayan, Sultan Kudarat Delivery Date: On or before November 28, 2025			
				REGION XIII (CORN)			
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: P3585YHR	200	bags	
				Place of Delivery: Ezperanza, Agusan Del Sur Delivery Date: On or before November 28, 2025			

Lot 1: COMPOSTS, ORGANIC FERTILIZERS, PESTICIDES AND AMELIORANTS

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
1	COMPOSTS, OR AMELIORANTS		ERTILIZER	S, PESTICIDES AND				
	2025-01-0202	SWRRD		Vermicompost/Vermicast, 40kg/bag	75	bag	680.00	51,000.00
				Organic pesticide, neem oil, FPA/BAFS registered 1L	60	bot	1,500.00	90,000.00
				Carbonized rice hull, 15kg/bag	75	bag	250.00	18,750.00

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
				Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon				
		SWRRD	NSHP-CONT	Zeolite 25 kg Place of Delivery: BSWM, Quezon City	1	bag	4,000.00	4,000.00
				Delivery Date: June 2025				
		SWRRD	NSHP-CONT	Vermicompost/Vermicast, 40kg/bag	4	bag	680.00	2,720.00
				Carbonized rice hull, 15kg/bag	4	bag	300.00	1,200.00
				Place of Delivery: BSWM, Quezon City Delivery Date: June 2025				
	2025-01-0202	LUPEZ	NSHP	Certified Organic Fertilizer (COF); (40-50kg/bag)	30	bags	440.00	13,200.00
				Compost Enhancer	10	packs	300.00	3,000.00
				Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M		peone	333,00	0,000.00
				CAR				
	2025-03-0566	LSD	NSHP	CORN				
				Compost or Organic Fertilizer at least 40kgs/bag	100	bags	550.00	55,000.00
				RICE				,
				Compost or Organic Fertilizer at least 40kgs/bag	1000	bags	550.00	550,000.00
				Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025				
				REGION I				
				CORN				
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
				Place of Delivery: Aringay, La Union Delivery Date: On or before November 28, 2025				
				REGION III				
				CORN				

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
				Place of Delivery: Mexico, Pampanga Delivery Date: On or before November 28, 2025		34,5	330,03	23,000.00
				RICE				
				Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	550.00	1,100,000.00
				Place of Delivery: Guimba, Nueva Ecija Delivery Date: On or before November 28, 2025				
				REGION IV-A				
				CORN				
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
				Place of Delivery: Tayabas, Quezon Delivery Date: On or before November 28, 2025				
				RICE				
				Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	550.00	1,100,000.00
				Place of Delivery: Sta. Maria, Laguna Delivery Date: On or before November 28, 2025				
				REGION IV-B				
				CORN				
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
				Place of Delivery: Abra De Ilog, Occidental Mindoro Delivery Date: On or before November 28, 2025	100	Dags	330.00	33,000.00
				REGION V				
				CORN				
				Compost or Organic Fertilizer - at least 40kgs/bag	480	bags	550.00	264,000.00
				Place of Delivery: Cataingan, Masbate Delivery Date: On or before November 28, 2025				
				RICE				
				Compost or Organic Fertilizer - at least 40kgs/bag	1000	bags	550.00	550,000.00

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
				Place of Delivery: Polangui, Albay Delivery Date: On or before November 28, 2025				
				REGION IX				
				CORN				
				Compost or Organic Fertilizer - at least 40kgs/bag				
					100	bags	550.00	55,000.00
				Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025				
				DEGLOVI (GODN)				
				REGION X (CORN)				
				Compost or Organic Fertilizer - at least 40kgs/bag				
				0, 0	100	bags	550.00	55,000.00
				Place of Delivery: Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025				
				REGION XI (RICE)				
				Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	550.00	1,100,000.00
				Place of Delivery: Kapalong, Davao Del Norte (1000 bags), Sto. Tomas, Davao Del Norte (1,000 bags) Delivery Date: On or before November 28, 2025	2000	5480	555,55	2,200,000,000
				REGION XII (RICE)				
				Compost or Organic Fertilizer - at least 40kgs/bag				
					2000	bags	550.00	1,100,000.00
				Place of Delivery: Lambayong, Sultan Kudarat Delivery Date: On or before November 28, 2025				
				REGION XIII (CORN)				
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
				Place of Delivery: Esperanza, Agusan Del Sur Delivery Date: On or before November 28, 2025		- 05	22333	2,2,33.30
				BARMM (CORN)				
				Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
				Place of Delivery: Datu Hoffer, Maguindanao del Sur Delivery Date: On or before November 28, 2025				
							SUBTOTAL	6,254,770.00

Lot 2: BIOFERTILIZERS AND INORGANIC FERTILIZERS

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
2	BIOFERTILIZEI	RS AND I	NORGANIC	FERTILIZERS				
	2025-01-0202	SWRR D	ABFS-HVC	Muriate of Potash (0-0-60), 50kg/bag	120	bag	2,163.00	259,560.00
				Ammonium sulfate (21-0-0), 50 kg/bag	90	bag	1,500.00	135,000.00
				Agricultural grade salt fertilizer	45	bag	820.00	36,900.00
				Ammonium phosphate (16-20-0), 50 kg/ bag	15	bag	1,683.00	25,245.00
				Biofertilizer, mycorrhizal inoculant, Locally-produced, FPA/BAFS registered, 1kg/pack, Expiration date not earlier than January 2026	30	pack	300.00	9,000.00
				Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon				
	2025-01-0202	LUPEZ	NSHP	Complete (14-14-14), 50kgs/bag	28	bags	1,800.00	50,400.00
				Urea (46-0-0), 50kgs/bag, Granular	10	bags	1,860.00	18,600.00
				Muriate of Potash (0-0-60), 50kg/bag	10	bags	3,096.00	30,960.00
				Biofertilizer (Mychorriza Fungi)	50	packs	150.00	7,500.00
				Biofertilizer (Nitrogen Fixing Bacteria)	20	packs	100.00	2,000.00
				Calcium Nitrate Fertilizer	50	kg	150.00	7,500.00
				Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M				
	2025-03-0566	LSD	NSHP CONT	BARMM (RICE)				
				Complete (14-14-14), 50kgs/bag	816	bags	1,671.00	1,363,536.00
				Urea (46-0-0), 50kgs/bag, Granular	800	bags	1,800.00	1,440,000.00
				Muriate of Potash (0-0-60), 50kg/bag	200	bags	1,750.00	350,000.00
				Ammonium phosphate (16-20-0), 50 kg/ bag	900	bags	1,400.00	1,260,000.00
				Urea (46-0-0), 50 kg/ bag	276	bags	1,800.00	496,800.00
				Muriate of Potash (0-0-60), 50 kg/bag	300	bags	1,750.00	525,000.00

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
				Place of Delivery: Shariff				
				Saydona Mustapha, Maguindanao del Norte				
				Delivery Date: On or before				
				November 28, 2025				
				REGION II (CORN)				
				Ammonium phosphate (16-20-				
				0), 50 kg/ bag	450	bags	1,470.00	661,500.00
				Urea (46-0-0), 50 kg/ bag	138	bags	1,629.00	224,802.00
				Muriate of Potash (0-0-60), 50		_		
				kg/ bag	150	bags	2,370.00	355,500.00
				Place of Delivery: Luna, Isabela Delivery Date: On or before November 28, 2025				
				Trovelliber 20, 2023				
							SUBTOTAL	7,259,803.00

LOT 3: SEEDS, SEEDLINGS AND OTHER PLANTING MATERIALS

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
3	SEEDS, SEEDL	INGS A	ND OTHER	PLANTING MATERIALS				
	2025-01-0203	SWRRD	ABFS-HVC	Pole sitao seeds, Pantastiko variety, 1 kg/pack	2	pack	3,300.00	6,600.00
				Squash seeds, Suprema variety, 50g/can	40	can	1,600.00	64,000.00
				Okra seeds, Smooth Green variety, 100g/can	5	can	300.00	1,500.00
				Chili pepper, Django variety, 25g/can	20	can	2,600.00	52,000.00
				Eggplant seeds, Mucho variety, 50g/can	10	can	1,200.00	12,000.00
				Ampalaya seeds, Mestisa variety, 50g/can	20	can	2,300.00	46,000.00
				Banana seedlings, Cardaba	30	pc	150.00	4,500.00
				Papaya seedlings, Red lady	60	pc	260.00	15,600.00
				Cacao tree seedlings	60	рс	175.00	10,500.00
				Citrus tree seedlings	360	рс	175.00	63,000.00
				Grafted guyabano tree seedlings	30	pc	175.00	5,250.00
				Lanzones tree seedlings	60	рс	175.00	10,500.00
				Rambutan tree seedlings	30	рс	175.00	5,250.00
				Calamansi tree seedlings	210	рс	175.00	36,750.00
				Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon				
				Note: Fruit tree seedlings, in 9x13" seedling bag, 2-3 ft ht., stem diameter > 1cm				

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
		SWRRD	NSHP- CONT	Citronella Planting Material	25	pc	100.00	2,500.00
				Rinorea niccolifera planting material	10	pc	950.00	9,500.00
				Place of Delivery: BSWM, Quezon City Delivery Date: June 2025				
	2025-02-0240	SWRRD	LFP-NSHP	Garlic cloves, No.1 -planting material -free from diseases and mechanical damage -fully developed & mature bubls	4720	kg	350.00	1,652,000.00
				Delivery date: 2nd week of October, 2025. Delivery Place: MMSU Batac, Ilocos Norte (400kg); Brgy. Susugaen, Pasuquin, Ilocos Norte (The rest).				
	2025-01-0202	LUPEZ	NSHP	vegetable seedlings (hot pepper) 128 cells per tray,	80	trays	220.00	17,600.00
				vegetable seedlings (eggplant) 128 cells per tray, seedlings 28-30 day old	80	trays	220.00	17,600.00
				Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M				
	2025-03-0566	LSD	NSHP CONT	BARMM				
				RICE				
				Hybrid Rice Seeds, 15 kgs/bag, high-yielding variety suitable for the region	200	bags	7,500.00	1,500,000.00
				Place of Delivery: Shariff Saydona Mustapha, Maguindanao del Sur Delivery Date: On or before November 28, 2025				
				CORN				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	200	bags	10,000.00	2,000,000.00
				Place of Delivery: Datu Hoffer, Maguindanao del Sur Delivery Date: On or before November 28, 2025				
				REGION II				

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
				CORN				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	300	bags	10,000.00	3,000,000.00
				Place of Delivery: Luna, Isabela Delivery Date: On or before November 28, 2025				
				CAR				
				Seeds, corn, yellow, at least 9kgs/bag Variety: DK 8282s	180	bags	10,000.00	1,800,000.00
				Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025				
		LSD	NSHP	CAR (CORN)				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 8282s	20	bags	10,000.00	200,000.00
				Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025				
				REGION I				
				CORN				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 6919s	170	bags	10,000.00	1,700,000.00
				Place of Delivery: Santa Cruz, Ilocos Sur (70 bags) Aringay, La Union (100 bags) Delivery Date: On or before November 28, 2025				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 6919s	30	bags	10,000.00	300,000.00
				Place of Delivery: Aringay, La Union Delivery Date: On or before November 28, 2025				
				REGION III (CORN)				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: NK6410 VIP	200	bags	10,000.00	2,000,000.00
				Place of Delivery: Moncada, Tarlac (50 bags), Concepcion, Tarlac (50 bags), Mexico, Pampanga				

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
				(100 bags) Delivery Date: On or before November 28, 2025				
				REGION IV-A (CORN)				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	200	bags	10,000.00	2,000,000.00
				Place of Delivery: Tayabas, Quezon Delivery Date: On or before November 28, 2025				
				REGION IV-B (CORN)				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	200	bags	10,000.00	2,000,000.00
				Place of Delivery: Abra De Ilog, Occidental Mindoro Delivery Date: On or before November 28, 2025				
				REGION VI (CORN)				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	180	bags	10,000.00	1,800,000.00
				Place of Delivery: Tapaz, Capiz Delivery Date: On or before November 28, 2025				
				REGION IX (CORN)				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8131S	200	bags	10,000.00	2,000,000.00
				Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025				
				REGION X (CORN)				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8131S	200	bags	10,000.00	2,000,000.00
				Place of Delivery: Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025				
				REGION XI (CORN)				

LOT	PR NO	END USER	FUND SOURCE	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	180	bags	10,000.00	1,800,000.00
				Place of Delivery: Kapalong, Davao Del Norte Delivery Date: On or before November 28, 2025				
				DECION VII (CODN)				
				REGION XII (CORN)				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	180	bags	10,000.00	1,800,000.00
				Place of Delivery: Bagumbayan, Sultan Kudarat Delivery Date: On or before November 28, 2025				
				REGION XIII (CORN)				
				Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: P3585YHR	200	bags	10,000.00	2,000,000.00
				Place of Delivery: Ezperanza, Agusan Del Sur Delivery Date: On or before November 28, 2025				
							SUBTOTAL	29,932,650.00

ANNEX B

BSWM Bid Securing Declaration Form

[shall be submitted with the Bid if bidder opts to provide this form of Bid Security]

REPUBLIC	OF THE	PHILIPPINES)
CITY OF) S.S

BID SECURING DECLARATION

Project Identification No.: [Insert number]

To: [Insert name and address of the Procuring Entity]

I/We, the undersigned, declare that:

- I/We understand that, according to your conditions, bids must be supported by a Bid Security, which may be in the form of a Bid Securing Declaration.
- I/We shall furnish the required performance security within ten (10) calendar days in/ Case of receipt of Notice of Award (pursuant to GPPB Circular No. 04-2020 and GPPB Resolution No. 16-2020).
- 3. I/We accept that: (a) I/we will be automatically disqualified from bidding for any procurement contract with any procuring entity for a period of two (2) years upon receipt of your Blacklisting Order; and, (b) I/we will pay the applicable fine provided under Section 6 of the Guidelines on the Use of Bid Securing Declaration, within fifteen (15) days from receipt of the written demand by the procuring entity for the commission of acts resulting to the enforcement of the bid securing declaration under Sections 23.1(b), 34.2, 40.1 and 69.1, except 69.1(f),of the IRR of RA No. 9184; without prejudice to other legal action the government may undertake.
- 4. I/We understand that this Bid Securing Declaration shall cease to be valid on the following circumstances:
- a. Upon expiration of the bid validity period, or any extension thereof pursuant to your request;
- I am/we are declared ineligible or post-disqualified upon receipt of your notice to such
 effect, and (i) I/we failed to timely file a request for reconsideration or (ii)
 I/we filed a waiver to avail of said right; and
- c. I am/we are declared the bidder with the Lowest Calculated Responsive Bid, and I/we have furnished the performance security and signed the Contract.

IN WITNESS WHEREOF, I/We have hereunto set my/our hand/s this ______day of [month] [year] at [place of execution].

[Insert NAME OF BIDDER OR ITS AUTHORIZED
REPRESENTATIVE]
[Insert signatory's legal capacity]
Affiant

[Jurat]

[Format shall be based on the latest Rules on Notarial Practice]

ANNEX C

Omnibus Sworn Statement (Revised)

[shall be submitted with the Bid]

REPUBLIC OF THE PHILIPPINES) CITY/MUNICIPALITY OF) S.S.	

AFFIDAVIT

- I, [Name of Affiant], of legal age, [Civil Status], [Nationality], and residing at [Address of Affiant], after having been duly sworn in accordance with law, do hereby depose and state that:
- 1. [Select one, delete the other:]

[If a sole proprietorship:] I am the sole proprietor or authorized representative of [Name of Bidder] with office address at [address of Bidder];

[If a partnership, corporation, cooperative, or joint venture:] I am the duly authorized and designated representative of [Name of Bidder] with office address at [address of Bidder];

0. [Select one, delete the other:]

[If a sole proprietorship:] As the owner and sole proprietor, or authorized representative of [Name of Bidder], I have full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for [Name of the Project] of the [Name of the Procuring Entity], as shown in the attached duly notarized Special Power of Attorney;

[If a partnership, corporation, cooperative, or joint venture:] I am granted full power and authority to do, execute and perform any and all acts necessary to participate, submit the bid, and to sign and execute the ensuing contract for [Name of the Project] of the [Name of the Procuring Entity], as shown in the attached [state title of attached document showing proof of authorization (e.g., duly notarized Secretary's Certificate, Board/Partnership Resolution, or Special Power of Attorney, whichever is applicable;)];

- O. [Name of Bidder] is not "blacklisted" or barred from bidding by the Government of the Philippines or any of its agencies, offices, corporations, or Local Government Units, foreign government/foreign or international financing institution whose blacklisting rules have been recognized by the Government Procurement Policy Board, by itself or by relation, membership, association, affiliation, or controlling interest with another blacklisted person or entity as defined and provided for in the Uniform Guidelines on Blacklisting;
- 0. Each of the documents submitted in satisfaction of the bidding requirements is an authentic copy of the original, complete, and all statements and information provided therein are true and correct;
- 0. [Name of Bidder] is authorizing the Head of the Procuring Entity or its duly authorized representative(s) to verify all the documents submitted;
- 0. [Select one, delete the rest:]

[If a sole proprietorship:] The owner or sole proprietor is not related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

[If a partnership or cooperative:] None of the officers and members of [Name of Bidder] is related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

[If a corporation or joint venture:] None of the officers, directors, and controlling stockholders of [Name of Bidder] is related to the Head of the Procuring Entity, members of the Bids and Awards Committee (BAC), the Technical Working Group, and the BAC Secretariat, the head of the Project Management Office or the end-user unit, and the project consultants by consanguinity or affinity up to the third civil degree;

- 0. [Name of Bidder] complies with existing labor laws and standards; and
 - 0. [Name of Bidder] is aware of and has undertaken the responsibilities as a Bidder in compliance with the Philippine Bidding Documents, which includes:
 - . Carefully examining all of the Bidding Documents;
 - . Acknowledging all conditions, local or otherwise, affecting the implementation of the Contract;
 - . Making an estimate of the facilities available and needed for the contract to be bid, if any; and
 - . Inquiring or securing Supplemental/Bid Bulletin(s) issued for the [Name of the Project].
 - 0. [Name of Bidder] did not give or pay directly or indirectly, any commission, amount, fee, or any form of consideration, pecuniary or otherwise, to any person or official, personnel or representative of the government in relation to any procurement project or activity.
- 0. In case advance payment was made or given, failure to perform or deliver any of the obligations and undertakings in the contract shall be sufficient grounds to constitute criminal liability for Swindling (Estafa) or the commission of fraud with unfaithfulness or abuse of confidence through misappropriating or converting any payment received by a person or entity under an obligation involving the duty to deliver certain goods or services, to the prejudice of the public and the government of the Philippines pursuant to Article 315 of Act No. 3815 s. 1930, as amended, or the Revised Penal Code.

IN WITNESS WHEREOF, I have hereunto set my hand this _	_ day of	, 20	_ at	
Philippines.				

[Insert NAME OF BIDDER OR ITS AUTHORIZED REPRESENTATIVE] [Insert signatory's legal capacity] Affiant

[Jurat]

[Format shall be based on the latest Rules on Notarial Practice]